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HH & 44 |

[1] ®oFRKEMmE S,

(1) 5—4y4 = —7 (2) 446 x = 19+3y

2 1

(3) 3(x+5) =—2—(5x—1) (4) €x+2:§x—4
(2] WOREFRESM LIRS,

(1) 4x°—10¢g (2) x*—14x+409
(3) 3x°+6x—45 (4) 5x*—20

[8] kOO FHIRE KD S,

(1) 11 (2) 0.09

16
(3) 25 (4) 108
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(1) x= 3 (2) x=5 (3) x= —2 (4) x=—90
—  [fiEF]
(1) 5—4y4 = —7 (2) 446 x = 19434
— 4 = —7—5H 6 x—3x = 19—4
—4yx = —12 3x = 15
x =3 x = 9
2 1
(3) 3(x+5) = —-—2—(5x—1) (4) 5 x+t2 = 5 x—4
3x+15=—2—-5x+1 W% 1 5/ELT
3x+5x=—24+1—15 6x+30 =5%x—60
8x=—16 6 x—5x = —60—30
x=—2 x = —90
(1) 2x(2x—5) (2) (x—7)°
(3) 3(x—3)(x+5) (4) B5(x+2)(x—2)
— [
(1) 4x°—10% (2) x°—14x+49 = (x—7)°
= 2x(2x—5)
(3) 3x°+6x—45 (4) 5x°—20 = 5(x°—4)
= 3(x*+2x—15) = 5(x+2)(x—2)
= 3(x—3)(x+5)
(1) =VJ11 (2) +0.3 (3) i—g (4) + 643
—  [fREn]
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(3)
(4)

SR, BFENENTEZD

O2FF DL allRDBa a DFHTREND, EOBDFEHIRIL, EEH2OH D,
IR DR DR 2> TERT

(2) /NEOTZ2ITHEE

WREOFIITE LT /NS NEUICTLHDT,

vios = 643 &7%.
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ek AR X

—2, —1, 0, 1, 205H, WOFBRXKOMTHILLDEEZREW,

(1) x’+x—2 =0 (2) 2x*+8x+8=0
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—

(1)

(2)

#$3 3E —yhiER TTRABRXOUEN L ERRUZOROER] <EHERRED - s
fiRlx—2 &1 (2) fRld—2
[fi#sn ]
x=—20rx (—2)*+(—2)—2=4—2—2=0 = YO
x=—10rtx (—1)°4+(—-1)—2=1—-1—-2=—2+%0
x=0Dkx 0°+0—2=—2%#0
x=1Dkx 1°+1—2=1+1—2=0 = VIO
x=20& X 2°4+2—2=4+4+2—2=4+#0
Lo T, XN D (=0 IZR5)DL, x=—2LLx=1D¢ %,
x=—20rx 2X(—2)’+8X(—2)+8=8—16+8=0 = YO
x=—1nrx 2X(—1)°48X(—1)+8=2—-8+8=2+0
x=0m¢& X 2X0%+8X0+8=8+0
x=1Dkx 2X1%°+8X1+8=2+8+8=18+0
x=2DLx 2X2%+8X2+8=8+16+8=32+0
L7z o T, BV ID (=0 1Zh8D)DIE, x=—2DLEETTHD,
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HH & 44 |

WOFBREME R E,

(1) x% = 49 (2) 6x2 = 42

(3) 5x*—90 =0 (4) 81 x*—25 =0
KOG REAZ & 72 S0,

(1) (x—3) =16 (2) (x+4)°—24 =0
WOFEREME R E,

(1) x*+x—12 =0 (2) x°—5x=0

(3) x*—12x+36=0 (4) x*+5x=10+2 %
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(1) x==*7 (2) Xziﬁ
(3) x==3vy2 (4) x=+g
—  [Fgin]
(1) x* =49 (3) 6x° =42
x = =7 2 7
x TV 7
(3) 5x°—90 0 (4) 81 x°—25 =0
5x%° 90 81x* = 25
x> =18 , 25
x = t418 X T8
x = £342 x:ii
9
.
(1) » =7, —1 (2) x = —4*+2¢6
—  [fRa]
(1) (x—3)* =16 (2) (x+4)*—24 =0
x—3 = *4 (x+4)° = 24
x = 34 x+4=im
x = 3+4 = 7TEIX x = —4x246
= 3—4 —1
.
(1) x = —4, 3 (2) x =10, 5
(3) x =6 (4) x = 2, —5
—  [fiEF]
(1) x*+x—12 =0 (2) x*—5x =0
(x+4)(x—3) = 0 x(x—5) =0
x = —4, 3 x = 0, 5
(3) x*—12x+36 =0 (4) x°*+5x = 10+24y
(x—6)> =0 x*+5x—2x—10 =0
x = 6 x’+3x—10 = 0
(x—2)(x+5) =0
x = 2, —5
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ek AR X

<IEHABEDO>

[1] %OFRKEFEFOBICER L TRE RS,
(1) x*°—8x—3 =0 (2) x°+10x+7 = 2

[2] W HFBRAAMOAR TIE 2 SV,
(1) 3x*+5x—1 =0 (2) 2x*+6x+3 =0
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(1) X:4im (2) x=—5i2\/g
—  [fiEF]
(1) x*—8x—3 =0 (2) x*+10x+7 = 2
x’—8x+16 = 3+16 x*+10x+25 = 2—7+25
(x—=4)" =19 (x+5)2 = 20
x—4 =+J719 x+5 = + 420
x = 4+J19 x = —5+2 45
.
—5+4/37 — 3+ 43
(1) %= 7% (2) x =——
6 2
—  [fiEF]
(1) 3x°+5x—1 =0 (2) 2x°+6x+3 =0
a=3, b=5, c=—1%2,A=Uf A a=2, b=6, c=3%2,ARUTA
— 5+ 452 —4x 3x(—1) —6++462 —4x 2x 3
X = 2% 3 X 2% 2
B _5im B —6+t4 36—24
6 4
5+ 437 —6+y 12
_ - =
—6+ 2y 3
= 4
_3: 43
- 2
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AL & A
WO FFER AR E 72 S0,
(1) (x—5)(x+3) = 5x—15 (2) (83x+2)? =5
(3) (3—x)? = 6x+18 (4) (x—3)*+2(x—3)—15 =0

HBRA x’tax—18 = 0 OFEOLION x=—9ThdEX, KOMNIEZRS,

(1) adfEzZRDLIV, (2) MOfRERDRSIV,
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(1) x =0, 7 (2) 5 = —2+45

3

(3) x = 6345 (4) 4 = 6, —2

—  [f#Ra]

(1) (x—5)(x+3) = 5x—15 (2) (3x+2)> =25
x’—2x—15 = 5x—15 3x+2 = =45
x*—2x—5x—154+15 =0 3x = —2X4 5

—2+ 5
x'—=7x =0 x = 3
x(x—7) = 0
x = 0, 7
(3) (83—x)>=6x+18 (4) (x—3)*+2(x—3)—15 =0
9—6x+x>= 6x+18 x—3=A tBBE&
x?—6x—6x+9—18 = 0 A*+2A—15=0
x*—12x—9 = 0 (A—3)(A+5)=0
x = 2 (x—=3—-3)(x—=3+5) =0
12+ Y180 (x—=6)(x+2) =0
= 2 x = 6, —2
12+ 645
- 2
= 6+3y5

\§

(1) a=7 (2) fhofigixz 2

—  [f#E#]

(1) x = —9%fKKALT (2) a=7%ALT
81—9a—18 = 0 x +7x—18 = 0

—9a = —63 (x—2)(x+9) = 0
a = 7 x=2, —9
L7 - 7T, hofigis 2




